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ey 33.480,787| 30,864.118| 2,625,669
e 655,201 791,741|  A136,540
S 655,201 641,741 13,460
200,488|  238501|  ~18,013

220,488

10,0038 X282 x40AI 2 x 128 = 134,441

10,0038 X5 67 Al 2t x 128 = 40,213

80,4092 x58 x 142! = 45,834
396,965| 379,308 17,657

396,965

1,443,7202x7Bx 128 = 121,273

50,0002 x 7% x 128 = 4,200

1,443,720% X 7% x 450% = 45,478

1,443,720% X 7% x 100% = 10,107

1,443,720% X 7% x 120% = 12,128

130,0002! x 7% x 128 = 10,920




(710) S&AHIE Mgt (716) HMel& bl S @ (101) 12| (&Hel @ E &)

Ak o 05:' i w | 5 2 O
— WEE XY 70,000 x7¥x12& = 5,880
— ARG 79,9203 x 7@ %20 = 11,189
— &= 7,920
* IR X 40,000 x7H x 128 = 3,360
= PIE| 60,0003 x4¥ x12& = 2,880
*JIENIS 20,0003 x7¥8 x12& = 1,680
— AESHHIE =G 467,080 x2H x43| = 3,737
— 52422 79,9202 x150%x3L x7Hx 128 = 30,210
— 2HAlH] 50,000@ x7¥ x12€ = 4,200
— M 50,000 x7¥ x 128 = 4,200
— g 40,000 x7¥ x 128 = 3,360
— =2l xAEE 1,443,720 x80%x7H x 12& = 97,018
— SR 110,000@¥ x7¥ x 128 = 9,240
— HEAZ2R2LE 9,990% x150%x3AI2tx7H x 128 = 3,777
— ARG 1,443,720 x10%x7Hx12& = 12,128
37,748 23,932 13,816 |04 JI2ZHHZ22 X sEE 4

O FOIRg ZHAIAL 22| & SHAMY| QILA(PE2EEL HE, Eol) (SHH5MI0[ 4}

60,2403 x10¥ x10Lx23| = 12,048




[ St A Dt ]
2 ¢ (700) AIHIZ 5 @ (710) ZHIE Mg : (716) HelZ | = : (101) 212 cHel  ®R)
o = oo | TEE = o N
2| g Me 8 Of & &
O BHMal AL el L SFFY| 2R (L=oIAt2l) (R60AI0I4) 25,700
— Q2| 270,000& x10E x9& = 24,300
— 203l 140,000& x10¢¥ = 1,400
é)gw 2,359,970 2,256,899 103,071
=2
ge(')!&-i’-%“tll 553,309 405,895 147,414
433,175 285,761 147,414 101 AtE2telH]
O t=ZH| 289,783
— FA2E LELEH| 4,720,000& = 4,720
— SR I RY JIEtE Bl 3,500,0008 = 3,500
— HJIFBA =2 & 140,825
St=Xeld AldE HYEE =+2(FEX,EH) 13,000,000 <2 2~ = 26,000
SHEMEl R &I ST 248 99,374
* 1EL SolioteX el E 34,224,300& X2 & = 68,449
* (HEot==X clE 19,654,800& x 1JHA = 19,655
* 2k HelAlE 11,270,000& x 1JHA = 11,270
“TIHE FIIMH| HHBAPBE, L 2942) 450,0002! x 44 2 = 1,800
*SETMS 22lEE A5 CODR 204 E=2(UHE 3,000,000 x 14 = 3,000
SaLeX RHEE BALLE(PEE EH) 1,000,0002 x 27} £ x43] = 8,000




Mgt (716) HMel& bl = @ (201) LBH2SEH| (&Hel @ E &)

05:' i w | 5 2 O

C ot HZ2U EIIAA £=2=2(E0H) 750,000 x 13| = 750
CAISA MSNH HCEAI LS (FEEAN) 316,700& x65 = 1,901
— S=A2AALAIEES 3,540
CHAAAN EL2(REE UL, E0H) 120,000® x3M A x48 = 1,440
sHE MHoI24: 28 A =222 (Edl) 700,0009 x33| = 2,100
— AR =2 123,618
S HD| OFN e CHE 23,652
* PEL-WEoleXeld, REL- UESHEDA 881,000& x12& = 10,572
* SollotE=Held, SHESH -2 XZHsEH IR 1,090,000& x 128 = 13,080
*=ATMS S 22| fIE] 76,279
* AEEJI=He|l & 20,580,000& x 1A = 20,580
x (2ot el & 28,440,000& x 1 & = 28,440
* SoliotrX el & 27,259,000& x 1A = 27,259
S ESolrXel & 2el i darE Ot 11,026,400& x13| = 11,027
‘ol Kl AHASHAIE 22| BHOF =42 4,500,000 x 13| = 4,500

ot eld ASOIM AL |2 (HHEA(REL Edl)
340,000 x2 A x 124 = 8,160
— AlS S8 EdHliH] 43,000& x1563| = 6,708




[ Sha=THAED} ]
2+ 1 (700) AHHIE 5 (710) YAHIB Mgt (716) Hel =l = (201) QB2 Y] (Sl ®9)
m = oo | TEE = o N
2| g Mg s O & o4
—ot=HMeld Atk D188 7 2,500% x2,000& = 5,000
— A2 RE0 B8R £2Z(FREXL &) 23,000 x2M A x 128 = 552
— 201gH| 89 >+2(HL) 110,000& x 128 = 1,320
O 2d=< 121,000
— AN HREX EH) 50,000 x5 x 119 = 29,750
— SAXHFRELEN) 50,0003 x5% x365< = 91,250
O agxz 22,392
—BAHEIAL AN BATY B L 500,0002 X2 x 93| = 9,000
— APD BIEAHIAL ST 28 X ATHEN)
120,000 x68| x12& = 8,640
— 2| Y2 (FEE S5, 22l E) 132,000 x 10 x3MAx12& = 4,752
120,134 120,134 02 3322l
0222 L MA 67,118
— RA2E B32= 768,000 x 14! = 768
— Mot AIEE(REZ,UHE,E0H) 400,000% x3MAx128 = 14,400
— @ISR #IIQB(TER) 60,0008/ x 128 = 720
— M RB(REXL UHE,EdH) 30,000& x4CHx 128 = 1,440
24,000




(716) Xecl&tl ==

=e

>

L Hm
oM

T
S~
P

CREL, Sollct=HMalE (1231 M)
CATE BBGEAIE(4HA)

* HEot=HMel & (2081 H)

HAZH|
Soliot=xcl& | = H2H|
ke ety

o ol
00 o
B b
00

ol
Mo

500,000 x2 A x 128 =
400,000& x12& =

600,000& x12& =

120,000& x 122

100,000& x4H =

120,000 x8CH

70,000 x70H =
150,000& x40 x23] =

600,000& x8CH =

4,000,000& x43| =

500,000& x 14!

1,100 x802IEH/12 x602 x40/100 =

2,635,000& x104 =

4,636,000& x10H =

12,000
4,800
7,200
1,440
400
7,450
960
490
1,200
4,800

16,000

500

50,904
2,635
4,636

33,689




[ oba=XHA D ]
2t 0 (700) AtRIHIE & (710) GEHI= Mgt (716) Xcl&d| 5 @ (201) LEt2HY| o c A
o = aw | SE= = o & o=

2| g Mg s Ol &F 2
" Ohe 7,432,0002 x3CH = 22,006
= 4,717,000 x 1 CH = 4,717
P 3,338,000% x2CH = 6,676
— =48 9,944
Eagy 6,705,000%! x 1 CH = 6,705
SIEIEES]) 3,239,000% x 1 Cf = 3,239

o 163,980 137,700 26,280
160,380 134,100 2628001 =U0IH]
O =222 2o 20,0009x36 x 152U x 128 = 129,600
O AHZ01E 22K 0fH) 20,0009 x 9% x 32 x3F = 1,620
O molg YREHOM] 60,0002 x 42 x32I x53] = 3,600
O £ETHME 2= 0iH) 60,0002 x3% x32 x53| = 2,700
O BNSHESY L2=T01H| 60,0002 x 22 x32Ix53] = 1,800
O 4+XE2HE Q2R 60,0002 x 3% x 32 x 43| = 2,160
O PEBEXAL AR 0MY) 60,000 x 112 x32 x53| = 9,900
O EHTAE AREF 0l 60,0002 x 102 x32 x53| = 9,000
3,600 3,600 olos  msDSIIBOY

O st4aRAL2SYRR #2DS 600,0009! x4 = 2,400




[ oba=XHA D ]
2 (700) AtHHIS & (710) GEHI= Mgt (716) Xcl&d| 2 : (202) o4l &)
= = gaw | TEE= = o & & I =z
2| g Mg s O & o4
OEDIZ 2 BN DEIF (AL FI,IA S) 300,0008! x4 = 1,200
— 5,220 4,620 600
5,220 4,620 600[04 EASYARzAY|
O BH2Y AREXH|(HE 37) 5,220
T 400,000%! x 128 = 4,800
— =3 5,00081 X 7% x 128 = 420
o 238,345 278.360|  ~40,015
115,900 151,900|  ~36000{01 st
O BtaReIAL SAFY HE DY (RET E5,0125145)
420,0002 x 155 X2 A x 23| = 25,200
OTMSSXIZ2IR AQE 2U(REL ) 900,0008 X204 x 128 = 21,600
O =X22I8 U2 PY(RELHE) 20,0002 x 100 = 2,000
O Kol AS 4| HE 7 27,000
— aEnsanR 5,000,000% x 1 4] = 15,000
P TIE 12,000,0002 x 1 4] = 12,000
O 23 &UI(HBR) HYE EXH 7 (REX) 260,0002! x100kg = 26,000
Ost4ar® 2 W2 TU(RE, U252 2X) 75,0002 x 20 x 44 = 6,000
O HAS DIMSH & X 7Y(TER) 8,100




Ml

(716) Mel&hl

(206) 24|

=e

Ol

2t
=]

&t £ ] e

20,0003 x300kgx 13| =

700& x3,000kgx 12| =

6,000

2,100

122,445

126,460

A4,015

(FEXL SH.UE) 4,000& x2,300kgx 128

(FEZ.UL) 1102 x300kgx 3652 =

110,400

12,045

207
&1 2|

4,600

5,000

A400

4,600

5,000

A400

200,000& x20& =

15,000& x40& =

4,000

600

212

Scl=dbl

82,622

72,430

45,651

43,621

396,965,000& %x11.5% =

45,651

36,971

28,809

8,162

gy

10
o

Qe
Pl
tol

pa-iy

4
[la}
04
o

I
1%

130,000 x369H =

35,000& x369H =

65,0003 x7E x23| =

7,235
4,680
1,260
1,295

910




(212) =2l

(716) Mel&hl

Alet

Yo} (@) (<o) <t (@) o (@) <t QO (@) o o o o (@)
<t < o © < (0] Al (@) <t o) (@] (@) O (@] (@]
N~ N © o ¥ o ® Y © S 8« © 0
[e)} Al (e8] Al — Al [ee] [ [a\] — — (e8] —
Al
1] Il Il 1] I 1] Il 1]
Fall] o) oM oM o o o o o
[ [ (@) [a\] Al Al Al Al [a\] < <t (V]
x X X X X X %X X% x X X
® @ S ol ol ol ol ol ol ¥ & o>
(@] (@] © (@] (@) (@] (o0] [e0) [e6) (@] (@] X
S S S T T T X X X e < o
L9 XX X B 8 B8 S 3 S
50 8 8 o - o » ® s
< ™ [V X — — S
X X X 0 X X S
@ oW W S W ® 9
(@] (@) (@] (@) (@] O
O (@) O (@) O (@]
S & & g © 9
[e0) 0] e0) e0) [e0)
-
= N_. =) 0
<l T M = I T 0o M
- = 1 ) oo
s M g M g M ooooF
aoR mWo=o0 o= F oo
L S 8o
_ bk < 9 N o 50 D
a) nl ~J o0 ~J < ~J oH - I
< o < < @ < T o D M
= K
. = ok Ok
o n T B =
K0 < FoRE D
o) M_H =
0 lle) r
’ _ 0 _
(e}
o (@] (@)
(@) (@]
S| S
> | =
< <
o o <t <
= (@) (@) (@)} (e))
al A A DA A
" Al [a\] (<o) O
] < 8|3
kS
(@) o <t <t
o (@] (@)} (e))
A ERA A
R B 3| 3
o) Vo)
or M
=] E
T =
0k 0k
o Off < XJ
INRE! F
0
=
0




Mg (716) HelZY] S ¢ (214) 262X DAY CEREED)

Ol

=e
>
L Hm

2t A = J| =
—diold 2 E 100,000& x7CHx 33| = 2,100
O AdA==AX 2teldl 23,894
— A ELSt+H2E 2,717&x3,682m" = 10,004
— Solict+HelE 2, 7173 x4,729m" = 12,849
— i Eot==Hl ¥ 1,118 x931m" = 1,041
O dt==HMel& J1H ¥ #I|&H| KXl 81,000
— &L % Soliot=HelE 35,000,000& x 244 = 70,000
— UE2ot+=xal& 5,000,000 x 1A = 5,000
— 472 BI3ot=Hel A (7], 2X) 2,000,000& x3MH 2 = 6,000
Odt+=HMelH sz &4 41,000
— AELolHelE 100,000& x100m x23| = 20,000
— Sofiot==HelE 100,000& x100m x 13| = 10,000
— i 2ot==Xcl ¥ 100,000& x50m* x 13| = 5,000
— A2 B3otHel A E(RA], 2 EX) 100,000 x60m x 13| = 6,000
OHM=EIN L 20| HE FU(RELEHUHE) 1,600 x5004 x3MH A = 2,400
OJHRSR(2Y) P (FEZ Ed,UHE) 3,000& % 1,000£x3MH 2 = 9,000
O 32 AR2E uH(REZ,E6H) 1,000,000& x 130 = 13,000
O A 84 =2 RAL(SZZEAH 2l 298) 70,0003 %308 = 2,100




Mg (716) HelZY] S ¢ (214) 262X DAY CEREED)

=e

>

L Hm
oM

= &t = ] e

O SHAIE(20088) KAIHI(PEE,E0H) 10,000,000& %244 = 20,000
O JuE)| tHH(REXH) 10,000,000 x2CH = 20,000
O BHEDHE =22X)| A2F WH(RELE) 3,000,000& x204 = 6,000
O Qe =& NH(REX) 2,000,000 x50 4 = 10,000
O ot==HMcl& NSHOAIAE KXl2el] 7,000,000& x5 4 = 35,000
O g=44l HSHUHAIAE =H(REXE) 5,000,000& x23| = 10,000
O =ZXNsSAHEI| FA2CH(FEX) 5,000,000& x 14! = 5,000
O +=Z=FFH € 24| RAL(FEXZ) 10,000,000& x 14} = 10,000
OSHEZH HIALAMD| Y Y Bl 2M(FREL HIE) 2,500,000& x20 4 = 5,000
O SHEZH DIM=SATE RR2e| 2H(FEX) 20,000,000& x 14! = 20,000
O MHEPSEH RAAZE WED| 22D WH(REX) 10,000,000& x3CH = 30,000
O N4 24 LY E U=(FEX) 25,000,000& x 14! = 25,000
O SEANE2 E(UE) 20,000,000& x 14! = 20,000
O SZAIEE SO bt HHM(FEXE) 22,000,000& x 14! = 22,000

SE)| RANEH(REE, S6H) 3,000,000& x80 = 24,000
OCCTV =2l & wHM(EaH) 5,500,000& x40 = 22,000
O2x HEX FFAAH HL(EdH) 6,000,000 x 14 = 6,000
O My 822 20 WH(SH) 16,500,000 x3IH A = 49,500




[ OoFZ=THA D ]
2t 0 (700) AtRIHIE &t (710) SHHIS Mgt o (716) HMel&d] = (214) =82 X Wb e @ JE)
n; = E
oo | SEE = oo & & I =z
EILE = o A o
OZITWEBIH PLC L XIOJE D 40,000,000 x 14| = 40,000
O 2LZeH2I| h4o(SH) 10,000,0008 x 1Al = 10,000
22 744,000| 744,000 0
744,000 744,000 0|0 s4HRIAE 29 HIIe2 744,000
— DEEsAE 28,000,0008/x 128 = 336,000
— sohotaHE 26,000,0002x 128 = 312,000
—OEsaHIE 5,000,0002! x 128l = 60,000
— AR ZZOAHRIAE (TR, QY P E) 1,000,000 x3JHA x 128 = 36,000
300
0| 30.474,616| 27.815.478| 2,659,138
2?!1}&1/%: 6,101 6,101 0
6.101 6.101 o1z lezas
OPEL 852 (o DB 6.101
— maDizs 6402 x 140% x 40§ x 128 = 4,301
— 2w 30,0002 X 6OAICHx 13] = 1,800
307
ol 30.468,515| 27.800.377| 2,659,138
30468515 27.800.377| 2.659.138|05 B2t
O ZEGAHIT MBS 16,515,623
— DmAES 5.657,510,00021/3652 x3652/x .11 = 6,279,837




Mgt (716) HMel& bl £ @ (307) gl2tolA (&Hel @ E &)

05:' i w | 2 2 R S TR |

— OB SAIES 9,943,309

1A 111.35& x75,000Ex365& x1.11 = 3,383,509

*2SH 106.52& x 152,000 x365 x1.11 = 6,559,800
— LS AMEZ 2,062.56& x350kf x3652 x1.11 = 292,477
O HEot=Hel & AIZEE2 4,877,160
— 1S St=AIEE 767.773%x14,000x3652 x1.11 = 4,354,869
— 2G| GIEAIEES 3233 x6,000E x2458 x1.1 = 522,291
O #Hol-J|Hat=Xel & A= 3,858,933
— Ot AIEE 4,762.35%2,000E x3652 x1.11 = 3,858,933
O ZaXeltid A+n2| 1,000 x350ke x3652 x10/100 = 12,775
O ot=&d X NJAFAE 29 101,840& x140E %3652 = 5,204,024




[ BFTHAE D} ]
2 1 (200) AH=2HXIE &t (230) RE RS Mg @ (234) =2 2 (401) AlEHIL LTI (&t - &)
n; = E
O AF oH a8 x = &t = J| =
- _ & = 01' Ab OH =) (=]
2 | & |NE = = =
200
T = K| = 3,955,550 10,387,860 | 26,432,310
230
SETIAE S 115,550 459,860 A344,310
231:. 5,000 0 5,000
==
401
AEHI LRI 5.000 0 5,000
5,000 0 5,000 |01 A& HI
O AEA 228 2t20| EX(=224E) 5,000,000& x 14! = 5,000
235
IHE R 100,000 451,150 A351,150
401
A& 2 S| 100,000 451,150 A351,150
100,000 451,150 A351,150 (01 A& HI
O AP HR] 4 hAF & CH2E W HI(E6H) 100,000,000& x 14! = 100,000
237
Doy = 10,550 8,710 1,840
405
KAE =H S 10,550 8,710 1,840
10,550 8,710 1,840101 =]
O Yue)|(+2 244 AEA) 2,500,000& <10} = 2,500
O MBS FBRUS WED(4TSAE) 1,500,0002 x 174 = 1,500
O ANEE (=2 24E) 150,000& x3H = 450
O sl AHEAI(RER) 3,600,000& x10H = 3,600
O YRBIN(FPEL) 2,500,000& x10H = 2,500




[ OF=THA D ]
2t (200) AH=2H XK= (260) HIDIS&EHI XS Mg @ (261) HEZSQIXHA 2 : (403) AXSHHEX=Z20|H o s M)
N = E
oo | TEE = o N
2| & M = ol A o
260 3,.840.000|  9.928,000| ~6.088,000
IS &I XA = 840, 928, 088,
E_?légmw 3,840.000|  9.928.000| 6,088,000
403
RS Tl 3.840.000|  9.928.000| 6,088,000
3.840.000|  9.928.000| A6.088.000(02  ZIIZSo ChE ChAIH

O ot

i

2,688,000,000! x 14!
242,000,0002 x 1 Al

910,000,000& x 14!

3,840,000
2,688,000
242,000

910,000




